ities:

Solvi lities:

Need to know the types of numbers (See Arithmetic 1b)
Same rules as solving linear equations (See Algebra 4a)
One difference: if you have to muitiply/divide both
sides of an inequality by a NEGATIVE number, we must
CHANGE THE DIRECTION of the inequality

T

W W

v

Exomple 1: G6raph the solutionto3 —4x <11, x € 7.

3-4x<11

—4x <11-3

-4y <8

< L (dividing both sides by -4)

x> -2 (Note sign change becouse divided

by -4)
For the number line, we're looking for all the Integers that
are bigger than -2 I

Example 2: Graph the solutionto 3(x —2) < -3, YER

3{ix—-2)= -3

3x—6<-3

3x <-34+6 (adding 6 to both sides)

3x < 3

B < 2 (dividing both sides by 3)
Dy o= 1

For the number line, we're locking for all the Real numbers that are
smaller than or equal to 1.

) —4-3-2-1012345*




